C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 46+2= 2) 833+6=
- 1.
2.
3.
3) 181+4= 4) 6439 = 4
5.
6.
7.
5 19+6= 6) 32+3=
8.
9.
10.
7) 784+5= 8 82+2=
- E— 11.
12.
9 740:5= 10) 48+2=
11) 38+5= 12) 64+2=
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 46+2= 23 2) 833+6= 13815 23
- 1.
2. 138r5
3 45r1
3) 181+4= 45r1 4) 643+9= 7114 4, /1r4
5. 3rl
6. 10r2
7. 156r4
5 19+6= 3rl 6) 32+3= 10r2
8 41
0. 148
10, 24
7) 784+5= 156714 8 82:2= 41 " 713
12, 32
9 740+5= 148 10) 48+2= 24
11) 38+5= 713 12) g4+2= 32
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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